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# include <stdio.h>
int main()
{
int a,b,c, s,av;
printf("\n Enter three no. ");
scanf("%d %d %d",&a, &b, &c);
s=(a+b+c);
av=s/3;
printf("\n The Sum of three no. is %d",s);
printf("\n The Average of three no. is %d",av);
return 0;

}

YA FeIpeT:

Enter threeno 56 7

The Sum of three no is 18
The Average of three no is 6

THRIT-]

fagrem it e «fasm wiafe g ¢ Twer (At witg ©iF cFaws ey s we B oy
GG TR (7Y |

#include <stdio.h>

int main()

{

int a,b;

float area;

printf ("\n Enter the value of a ");
scanf ("%d", &a);

printf ("\n Enter the value of b ");
scanf ("%d",&b);



area=0.5*(a*b);
printf ("\n The area is %.2f",area);
return 0;

}

AT TEAF:

Enter the valueof a 5
Enter the value of b 6
The area is 15.00

A9

fagrem foqt ateg 2fawr= ot =itr oiF cvawet faefy sa o B oy @3 fb i @12
#include <stdio.h>

int main()

{

int a,b,c;

float s,area;

printf("\n Enter three numbers ");
scanf("%d %d %d", &a, &b, &c);
s=(a+b+c)/2;
area=sqrt(s*(s-a)*(s-b)*(s-c));
printf("\n the area is %.2f",area);
return O;

}

AN FEATA:
Enter three numbers 5 6 7
The area is 14.70

A|I-8

eeq cwae T i o B o @< (B s @
#include <stdio.h>

int main()

{

intr;

float pi, area;

printf("\n Enter the value of r );
scanf("%d",&r);



pi=3.1416;

area = pi*(r*r);

printf("\n The area is %.2f",area);
return O;

}

EECIREIRTE
Enter the valueof r 5
The area is 78.54

R-¢

FIRAZIZD SHNAIT CEPRPT SN TR F419 & 7 oIEy «3fh iRl @1 |
#include <stdio.h>

int main()

{

int fh;

float cl;

printf ("\n Enter the value of fh ");

scanf ("%d", &fh);

cl = (fh-32)/1.8;

printf ("\n The converted Celsius temperature %.2f", cl);
return O;

}

AT T
Enter the value of fh 50
The converted Celsius temperature 10.00

HET-Y

PR SMPANI@NE FIEARILE SHN@RT TG FAIF & P OFF 436 TR @14 |
#include<stdio.h>

int main()

{

int cl;

float fh;

printf ("\n Enter the value of cl ");

scanf ("%d", &cl);

fh = (c1*1.8)+32;



printf ("\n The converted Fahrenheit Temperature %.2f",fh);
return O;

}

AT T
Enter the value of cl 10
The converted Fahrenheit temperature 50.00

-9
q3f5 IR (ee 7 Reee ©f fefa w3 e B o a3 f6 temi @9
#include<stdio.h>
int main()
{
int n,rem;
printf("\n Enter the value of n ");
scanf("%d", &n);
rem=n % 2;
if (rem==0)
{

printf("\n%d is a Even Number",n);

}

else

{
printf("\n %d is a 0Odd Number",n);

}

return 0;

>
YA e
Enter the valueof n 5
5 is a Odd Number
ERN-r
&% 2ra w47 Tre @ Wi T F719 oy 7 oy w3t @9
#include<stdio.h>
int main()
{
int a,b,c;
printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);



if ((a>b) && (a>c))
{
printf("\n The Largest no is %d",a);

bs
else if ((b>a) && (b>c))

{
printf("\n The Largest no is %d",b);

}

else

{
printf("\n The Largest no is %d",c);

}

return O;

}

A T
Enter three numbers 5 6 7
The Largest no is 7

TE-5
foaft st 4y =re =it WA Ay T &y 1 SiE @i @i @
#include<stdio.h>
int main()
{
int a,b,c;
printf("\n Enter three numbers ");
scanf("%d %d %d",&a, &b, &c);
if ((a<b) && (a<c))
{

printf("\n The Smallest no is %d",a);

bs
else if ((b<a) && (b<))

{
printf("\n The Smallest no is %d",b);

}

else

{
printf("\n The Smallest no is %d",c);



}

return O;

}

AT T
Enter three numbers 5 6 7
The Smallest nois 5

@RN-d0
1+24+3+......+ n Fifacew @ees ffg sam o for --- loop 3=z« wea ff orEw
@36 TR @Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+1)
{
S=s+C;
}
printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 15

RIN-5
2+4+6+......+ n Fifacem @ ey 397 o for --- loop 9= <63 &7 o
@30 TR 1Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");



scanf("%d", &n);
s=0;
for (c=2;c<=n;c=c+2)
{
S=s+C;
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 6

TET-5R
1+3+5+......+ n Fifies @rws {fy e e for --- loop 3927 3@ f e
@ TR 7Y |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+2)
{
S=S+C;
bs
printf("\n The Sum of the Series is %d ",s);
return 0;

}

WW:
Enter the valueofn 5
The Sum of the Series is 9

THRAN-59



12422+ 3%+......+ n? fifites @res T sa@ 5 for --- loop TR 3@ &
SIIT QI TR @74 |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+(c*c);
bs
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 55

TAA-58
12+ 3%+ 5%,.....4+ n? fifates @ries g sam e for --- loop 7=w w6
ORI Q36 TR 7Y |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
for (c=1;c<=n;c=c+2)
{
s=s+(c*c);
bs
printf("\n The Sum of the Series is %d ",s);
return 0;

}



AT TP
Enter the valueofn 5
The Sum of the Series is 35

TR-3¢
22+42+6>......+ n? Biftees @res At samwy for --- loop w93 w6
SIET 930 TR @74 |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

for (c=2;c<=n;c=c+2)

{

s=s+(c*c);

bs

printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

TEIN-Y
1+2+3+...... + n Fifates @ Ffr saa e do---while loop s @ i
ST G35 TR &74 |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;



do
{
S=s+C;
c=c+1;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return 0;

}

EECIREIRTE
Enter the valueofn 5
The Sum of the Series is 15

THRT-59
2+4+6+...... + n Fifates @ 36T 99 w5 do---while loop Iz 3@ &
SIET 930 TR @12
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
$S=s+C;
c=c+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return O;

}

10



AT TP
Enter the valueofn 5
The Sum of the Series is 6

TAR- b
1+3+5+...... + n fFifatem @res Fft sam e do---while loop s s@ &
O G0 TR @7 |

#include<stdio.h>
#include<conio.h>
int int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{

S=s+C;

c=Cc+2;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

TARTT-55

124224+ 3%+......+ n? fifites aries ffr 3o w5 do---while loop w5719
3R B o 9 TR @7 |

#include<stdio.h>

int main()

{

11



int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+1;

Ywhile(c<=n);

printf("\n The Sum of the Series is %d ",s);
return 0;

h
AT TP

Enter the valueofn 5
The Sum of the Series is 55

TR-0
124+32%+52.....4+ n? fiftees aries g s e do---while loop T=xw 3@
for o @3B e @
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
do
{
s=s+(c*c);
c=c+2;

Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return O;

12



}

AT T
Enter the valueofn 5
The Sum of the Series is 35

TARIT-D
224+4%+62......+ n? Biftem ariws s e do---while loop Izw 3@
7 T @ TR @ |

#include<stdio.h>
int int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
do
{
s=s+(c*c);
c=c+2;
Ywhile(c<=n);
printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

RIT-23
1+2+3+......+ n Fifiees @riws ey g2 s while loop 3=z 3@ & e
@36 TR @Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");

13



scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
$=s+C;
c=c+1];
}
printf("\n The Sum of the Series is %d ",s);
return 0;

h
TR FE:

Enter the valueofn 5
The Sum of the Series is 15

TRIT-0
2+4+6+......+ n Fifaces v fx w7 s while loop 35317 36 &1 s
@36 TR &Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
s=s+C;
c=c+2;
>
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueof n 5
The Sum of the Series is 6

14



-8
1+3+5+......+ n Ffacer @reer fdfa w2 o while loop 35:%7 363 ft o
@30 TR T3 |
#include<stdio.h>
int int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
$=s+C;
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

TART-¢
124+224+3%+......+ n? fifwem arres g sa@ s while loop 37z s@ &
ORI Q36 TR T4 |
#include<stdio.h>
int main()
{
int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=1;

while(c<=n)

{

15



s=s+(c*c);

c=c+1];
}
printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 55

THTT-Y

12+32+52......+ n? Fifttem @ fr sam e while loop w17 v B emm

QFT TR 1Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
while(c<=n)
{
s=s+(c*c);
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
return 0;

}

WW:
Enter the valueofn 5
The Sum of the Series is 35

TE-:9

16



22+42+6>......+ n? Biftcem @ At sam sy while loop 3727 36 B s
@35 TR &Y |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=2;
while(c<=n)
{
s=s+(c*c);
c=c+2;
}
printf("\n The Sum of the Series is %d ",s);
return 0;

}

AT T
Enter the valueofn 5
The Sum of the Series is 20

TART-b
1+24+3+......+ n Fifacez @ws Ry sar o if --- goto vz sea & s
@G TR 7Y |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=1;
level:
S=S+C;
c=c+1;
if (c<=n) goto level;
17



printf("\n The Sum of the Series is %d ",s);
return O;

bs
AT FEAFE:

Enter thevalueofn 5

The Sum of the Series is 15
TARATT-B

2+4+6+......+ n Fifacem @ [fy w97 o if --- goto 3=z« e fr e
@G TR =74 |

#include<stdio.h>

int main()

{

int ¢, n,s;

printf("\n Enter the value of n ");
scanf("%d", &n);

s=0;

c=2;

level:

S=s+C;
c=c+2;

if (c<=n) goto level;

printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 6

H|T-vo

14+3+5+......+ n Ffacez @ees Afq sar oy if --- goto 3777 3 f oy
@36 TR &Y |

#include<stdio.h>

int main()

{

int ¢, n,s;

printf("\n Enter the value of n ");

scanf("%d", &n);

18



s=0;
c=1;
level:
S=s+C;
C=C+2;
if (c<=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 9

TART-9)
«zf5 #f sryiw Factorial fafx saiw = B orar «3f6 zemi e
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
for (c=1;c<=n;c=c+1)
{
s=s*c;
>
printf("\n The Factorial is %d", s);
return O;

}

YA et
Enter the valueofn 5
The The Factorialis 120
A9
«3f5 = srerw Factorial ¢y 3@ w7 while loop 37z 3@ i ereiw @i
A *1Y |
#include<stdio.h>

19



int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1;
while(c<=n)
{
s=s*c;
c=c+1]1;
}
printf("\n The Factorial is %d ",s);
return 0;

}

AT T
Enter the valueofn 5

The Factorial is 120
ERN-99

a3 7f i@ Factorial 7w 32w w5 do---while loop 3737 3@ i oy

@G TR &74 |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1;
do
{

s=s*c;

c=c+1;

Ywhile(c<=n);
printf("\n The Factorial is %d ",s);
return O;

20
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AT TP

Enter the valueofn 5
The Factorial is 120
AR08

35 7if s Factorial et s e if --- goto 35737 3= it o «sfb

(Gl
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=1;
c=1,;
level:
s=s*c;
c=c+1;
if (c<=n) goto level;
printf("\n The Factorial is %d ",s);
return O;

}
A FAE:

Enter the valueofn 5
The Factorial is 120

A -0¢
@3 A Leap Year 4 ot ey sa@ oy 7 oiarw @i i e |
#include<stdio.h>
int main()
{
inty;
printf("\n Enter a year ");
scanf("%d", &y);
if((y%400==0) | | ((y%04==0)&&(y%100!=0)))
{
printf("\n %d is a leap year",y);

21



}

else

{
h

return O;

}

AT T
Enter a year 2010
2010 is not leap year

printf("\n %d is not leap year ",y);

RN-9Y
76 WRAE AL @, (GCD) e 337 oy 7 SiER @i teiiv @ |
#include<stdio.h>
int main()
{
intL, S, R;
printf("\n Enter two numbers ");
scanf("%d %d",&L,&S);
while(L%S!=0)
{
R=L%S;
L=S;
S=R;
}
printf("\n The GCD of Two numbers %d",S);
return 0;

}

AT FEAFA:
Enter two numbers 75 50
The GCD of two numbers 25

TE-09
76 MR w3, @, (LCM) fefy a1 o fr o uait T @1 |
#include<stdio.h>

int main()

22



int a, b, x;
printf("\nEnter the first integer number:");
scanf("%d", &a);
printf("\nEnter the second integer number:");
scanf("%d", &b);
if(a>b)
{
X=a;
¥
else
{
x=b;
h
level:
If((x%a==0)&&(x%b==0))
{
printf("LCM is %d \n", x);
¥
else
{
xX=x+1;
goto level;

h

return O;

bs
YA et

Enter the first integer number: 16
Enter the second integer number: 4
LCMis: 16

TRT-Obr

1 R 5 1S 4% 919 & @I @i @79
#include<stdio.h>

int main()

int int main()

23



{

intc;

for (c=1;c<=5;c=c+1)
{

printf("\n %d",c);

}

return 0;

}

AT T

NhWNE

TR0

10, 20, 30........., 100 *%® &% 391 & if.....goto 7T 7 93 R @7 |
#include<stdio.h>

int main()

{

int c;

c=10;

level:

printf("\n %d",c);
c=c+10;

if (c<=100) goto level;
return 0;

}

AT AT
10
20
30
40
50

24



60
70
80
90
100
JN-80
90+80+70......+ n Hfatem @ries ffg sam o if.....
QI TR 1Y |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;
c=90;
level:
S=s+C;
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return O;

bs
YA e

Enter the valueof n 10
The Sum of the Series is 450

THRIN-85

goto I« e 7 oIy

90%+80%+70>......+ n? fiftwem @ A s ey if.....goto I @ B

ST G0 TR T4 |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d", &n);
s=0;

25



c=90;
level:
s=s+(c*c);
c=c-10;
if (c>=n) goto level;
printf("\n The Sum of the Series is %d ",s);
return 0;

h
TR FE:

Enter the valueof n 10
The Sum of the Series is 28500

RIN-8
ICT =5 b I &% a9 &y a3fB T2 7Y |
#include<stdio.h>
int main()
{
intc;
for (c=1;c<=5;c=c+1)
{
printf("\n ICT");
bs

return 0;

}

A FAE:
ICT
ICT
ICT
ICT
ICT

TAHIV-89

Postfix Increment Operator 737 @ Faws f{efy
#include<stdio.h>

int main()

{

26



int a=3,b;

b=a++;

printf("\n The result of Postfix Increment Operator %d",b);
return O;

}

AT T
The result of Postfix Increment Operator 3

ARIN-88
Prefix Increment Operator I<%7 @ Fewe 467
#include<stdio.h>
int main()
{
int a=3,b;
b=++a;
printf("\n The result of Prefix Increment Operator %d",b);
return O;

}
AT TA:

The result of Prefix Increment Operator 4
TART-8¢
Postfix Decrement Operator I3 303 Fewe W
#include<stdio.h>
int int main()
{
inta=3,b;
b=a--;
printf("\n The result of Postfix Decrement operator %d",b);
return O;

}

YA T
The result of Postfix Decrement Operator 3

TAHIV-8Y
#include<stdio.h>
int main()
27



printf("\n The result of prefix Decrement operator %d",b);
return 0;

}

YA T
The result of Prefix Decrement Operator 2

TART-89
214+22423,.....+ 2" Biftrem e fdfT sam ww B o 9o R @ |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+pow(2,c);
>
printf("\n The Sum of the Series is %d",s);
return O;

}

AT FEATF:
Enter the valueofn 5
The Sum of the Series is 62

R N-8b
204214224 23,.....+ 2N fifecem e fef v wer B ot @3 TRy @9 |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");

28



scanf("%d",&n);

s=0;

for (c=0;c<=n;c=c+1)

{

s=s+pow(2,c);

bs

printf("\n The Sum of the Series is %d",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 63

AHIN-85
1+34+9+27+...... + N fifatem @ries ey sa9 o & siE 3 @R @2 |
#include<stdio.h>
int main()
{
int ¢, n,s;
printf("\n Enter the value of n ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c*3)
{
$=s+C;
>
printf("\n The Sum of the Series is %d",s);
return O;

}

ERCIRGINGE
Enter the value of n 27
The Sum of the Series is 40

ARN-¢o
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1x2+2x3+3x4......+ Nx(N+1) Fiftem @z fw sa7 o B oy gt
THRT 7Y |
#include<stdio.h>
int main()
{
intc, n,s;
printf("\n Enter the value of N: ");
scanf("%d",&n);
s=0;
for (c=1;c<=n;c=c+1)
{
s=s+c*(c+1);
bs
printf("\n The Sum of the Series is %d",s);
return O;

}

AT T
Enter the valueofn 5
The Sum of the Series is 70
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